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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: / g&Te faf¥r &1 g & | f5g 9 R WA 91T 8:
1. Discussion method / fa=R-famsf fafd

2. Question- Answer method / THITR fafd

3. Lecture demonstration method/ ARSI Ue =i fafer

4, Inquiry method / Wﬁﬁf

Correct Answer :-

« Question- Answer method / TR fafdr

2) Law of Exercise stresses the importance of in learning. / STRITH BT fram siftrrr o
& WE@ W I AT gl

1. Reward / YRIHRR
2. Readiness / ddddl

3. Practice / ¥

4, Impact / YHId

Correct Answer :-

» Practice / YT

3) According to Piaget, children experiment with sounds during the NALCIEE: D SR, T

_ FEIRAEFEA SR ERA§ |

1. Preoperational stage / Jd-Sifoharetar (HTSiToRTA) =il

2. Concrete operational stage / Td SfohaTe® (Hebic AT TR
3. Formal operational stage / 3 Sfohalcdes (B HORRI) SR



4. Sensorimotor stage / Fdal IR IR

Correct Answer :-
» Sensorimotor stage / Hadl IR AR

4) Why is the learning environment important for active learning? / afepa AT & fere arftrmy &1

uf¥a=r =i ggayuf 82

1. To build knowledge through collaboration. / W'Ch"'[ & H1e0H § 9 DI [dmiad & & ﬁ*I'Q I
2. There are no assessments. / ﬁ'ﬁ SHTh '_'@TI

3. There is no need to engage with the content. / IRt O feTed 811 BT aaahdl :@T%I

4. Tt uses multiple resources. / g ao—% AT BT TR-INT hdl %I

Correct Answer :-

« To build knowledge through collaboration. / T&IRT o ATLAH ¥ JH DI f[AHRIT B o AT |

5) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? /Qﬁ?\‘ﬁ

P AT f9er &t B9 At st fafRy Tu 3 fruRewT A gid 22

1. Identity vs. identity confusion / Ugd- d-H Ugdl- yifd

2. Generativity vs. stagnation / SIHIHS dl d-TH fRRar
3. Trust vs. mistrust / T4 I Ay
4. Intimacy vs. isolation / S8 dl &Y faerdar

Correct Answer :-

« Identity vs. identity confusion / Ugdl- §-H Ugd yifd

6) Which of the following is least likely to be a sign of depression in adolescence? | frRiREaRn § fFa o
A for e SrawTe T Habd B9 B HUTET 52

1. Sudden drop in marks / 3Pl ¥ s fRMae
2. Missing classes / P&l 7R gIoR EPHT

3. Withdrawing from friends / SIS g gcHdl
4. Changing friend groups / {8 W{Eﬁ CACCIE]
Correct Answer :-

« Changing friend groups / & ?ﬁﬂ@ DI IGTT

7) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? /

YHSTSE & AR F7H A DIF-IT HYT ‘qaRdT FHaW BT Y 33T Ui FHdT 82



1. It means that drill or practice helps in increasing efficiency and durability of learning. / TH®I 3 g fp
TIRI&07 7 3T SHFRTH BT g 3R AT Fl §g & Aeg Rl gl

2. It means that preparation or disposition of the subject contributes to learning. / SH®I 3 g o fawa
GRINKIESHICE DUt R R U R R ]

3. It means that the organism changes its response till an appropriate behavior is hit upon. / SHPI fag g
TP IUgad HAER & UGR 81 ad oi1d 301 Uffehar dgadm gdl |

4. It means that trial and error leads to connections being formed. / SHPT 3 o g i uamy 3R e & HRU YSY
CERE]
Correct Answer :-

It means that preparation or disposition of the subject contributes to learning. / SHPI 3 g o fawa
I 1 WU ST B e S B

8) The ability to think rationally and act purposefully is ./ THWTT Y F [ iR B%@'{Uf
T & BT B BT & gl

1. Reasoning / qb
2. Perception / GHHﬁ
3. Intelligence / §@

4. Creativity / XITHD AT

Correct Answer :-

« Intelligence / §@

9) The term Bandura used for explaining, overall process of social learning is ./ dgRT 7 dra= ot
I AT Uishar ot que & e fea ug sTyanr fears |

1. Self-efficacy / SMTH-FHTABTRT

2. Conditioning / 3Jh el

3. Vicarious reinforcement / T Yaerd
4. Modelling / WfcRequr (Hisfei)

Correct Answer :-

+ Modelling / 9fe=quT (HISfeiT)

10) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom. / Gal

faemdf @1 Suafr sik auaRlt Fen & gwa srat<aad 99 Agayu
SRS T ST 8 |

1. Teachers/ﬁTW



2. Principal /Uﬂ'l:ﬂ?lef
3. Supervisor/qﬁa%
4. Counselor / HATghR

Correct Answer :-

. Teachers/fQTW

11) Which of the following theorists believed in the role of biological maturation in the

development and learning process? / fFafeif@d # &9 @ RigideR faerar siv siftrm #t
withar ¥ Sfe ufiuear &) yfirer wR iy sa a2

1. Kohler/ﬁ@?
2. Skinnerm

3. Vygotsky / AT
4, Piaget /ﬁ'{ﬂ@f

Correct Answer :-

» Piaget /ﬁ'ﬁl'l@[

12) Reasoning is studied under ./ * idqifa aifbepdr &7 3reag faar Srdn

gl

1. Social development / a1t fadbr™

2. Cognitive development / GATHSD fapr
3. Physical development / RN fab™

4. Personality development / Afadd fae

Correct Answer :-

« Cognitive development / GATHSD fahr

13) Child development refers to the ; and changes that
occur in human beings between birth and the end of adolescence. / dTcl o 3 ared

, 3R TRad=l | § St 7S & o 3R fP=IRTawT & 3id &
CiekoEd

1. Biological, Psychological, Emotional/ \?IRIOD, H"I\Iaﬁlf'\‘lw, HIgATHD
2. Qualitative, Empirical, Quantitative/ J[UITHD, AJHIS, HIATHSD
3. Childhood, Adulthood, Adolescent/ U, dYIDh I, HIR

4, Infancy, Early, Late / U, \_Flﬁpf, XY



Correct Answer :-

« Biological, Psychological, Emotional/ @ﬁ$, Ilzhaw, HIIATHD

14) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

HRA A fawai safeal & freRT 39 Hged TP T (UNCRPD) TR 1 # 9 fore o &)
THIER fdhu?

1. 2006
2.2007
3.2008
4. 2005

Correct Answer :-

« 2007

15) Gifted children are good at / UfAHTRITe = {5 TeH A Jgar gid &2
1. All of the above / SUJad Tt

2. Ability to quarrel with others only / Had 3= b ITY TSI B B! Igar &

3. Ability to solve problems only / Hac THITSA Bl §A B DI ATIAT H

4. Ability to help teacher only / $Had el B Tdl H ! argar §

Correct Answer :-

 Ability to solve problems only / Had JHRTSH P g HRA DI ARGar §

16) Abraham Maslow propounded which of the following theories of motivation? / 3dTgH

AT 3 RO & frafeafad Rigidl @ @ fewe! ufaurfea fear
1. Humanistic Theory/ Hlﬂddlc{\lﬁ-lc&id

2. Incentive Theory/ Wﬁ@‘lﬁ

3. Drive Theory / sﬁaﬁl@ﬁ

4, Expectancy Theory/ U Rigid

Correct Answer :-

e Humanistic Theory/ H ECEIMIEER



What are some ways to help children develop problem-solving skills? / =0 A

I AN & DI BRI F31 | Heg P & $8 TP H1 82

1. Be a helicopter parent — do not give children space to make mistakes. / T SUIBIPR
STHTTH & - T B TAfaal HIA BT IR A ¢ |

2. Avoid giving children the chance to make tough choices. / g &I Sicd fawed g-Id Dl

HiT ¢ ¥ |
3. Make problem-solving a fun part of the culture of your home. / SHI-HHIYUTT B 3T

R P! GBI BT TP HoIGR fowdr s

4. Children must be protected from experiencing failure. / gl DI ATH AT BT JTHAT B A

CEISIEIRY

Correct Answer :-

. Make problem-solving a fun part of the culture of your home. / THEIT-THIY &I 3T+

TR B HPId DT Th HoIGR g1 §1¢|

18) In Freud’s view, development is a process. [ WaS & faaR A, faer™
T ufspar g1

1. Continuous / FRTR

2. Random / TTEfasH

3. Active / gfehd

4. Discontinuous / 3R

Correct Answer :-

« Discontinuous / 3R

19) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / SId FURY Wﬁf H SHeRI gH Wﬁ |
I 3 TSR B TTe HIA I APl §, d fbd TR B Ya it 82

1. Decay / Udd

2. Delay / IENE]

3. Cue-dependent forgetting / Hhd-snya Hol
4. Interference / 3fARIY

Correct Answer :-

« Interference / 3ARY



What type of a learner is one who learns best by watching movies or documentaries? /

?&mﬁﬁmﬁmﬁﬁﬁﬁwmmm%wﬁwwm&rwﬁ
?

1. Aural / SO

2. Kinesthetic / TTATRT®

3. Reading/writing / Y&/ SECR|
4. Visual / €Y

Correct Answer :-

e Visual /€)Y

21) What type of language theory focuses on the inborn capacity of infants to learn language?

/ Mo HREA & fore Rgraii & seid &mdr W 5 YR &1 HIeT Rigia S 22
1. Behaviourist theory / Td8R Rigid

2. Nurture theory / G901 RIGid

3. Instinctual theory / J8% fgid

4, Nativist theory / Hgul IMHard] Rrgid

Correct Answer :-

« Nativist theory / TgS FaTal Rigid

22) A detailed information about the individual’s ancestry is collected when the following

method is used to measure personality. / mwﬁaaﬁm%mﬁuﬁfﬁmw
o SiTaT 3 Y afea ot d=mad & 9R § U faRqgd STFe R U A §1 9Tt 3|

1. Interview / HI&TehR

2. Case History / G| %@j

3. Projective tests/ T&E TRI&fUT
4. Questionnaires/ PRI G|

Correct Answer :-

« Case History / g %@

23) If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

afe Rrare o1 Fmares il $) gafRd w3 9 tgd S 31 Ufeadi iR
HHSINYGT P IR | ST 2, a9 e o fg o1 dara- o371 91fge:



1. Summative Assessment / JRITRId W
2. Diagnostic Assessment / EAIRED HeATh
3. Interim Assessment / 3{RH HedTh

4. Formative Assessment / XdIHD Jj\('i‘lid?"I

Correct Answer :-

« Diagnostic Assessment / EAIBEY HATh

24) The creativity of the child can be most appropriately brought forth by giving

the class. /PETH %maﬁaﬁmmaﬁaﬁamﬁwmﬁwmmél
1. Homework / T8I

2. Notes / fewforar

3. Impositions / 3RIUT

4. Assignments / THIGRHA

Correct Answer :-

+ Assignments / THIGRH

25) Visual problems get solved more comfortably than verbal problems, during which stage
of cognitive development? / T HHETY HIFRA® THwATSA Bt gor-T H 31fUF MR,
GRS fdTe & fr av01 & SR 81 g &) &Il 872

1. Concrete operational /Tl:cf BIERICED (W’Cr IS TIET] )
2. Preoperational /@—W @m)

3. Formal operational / G'F%f Sfhards (q?\llﬁa SHTRRAA )
4. Sensorimotor /m RSP (@ﬂﬂm

Correct Answer :-

 Concrete operational /Il:cf BIERICED W Gﬁ'm

26) What dilemma did Kohlberg present to children in his study on moral development? /

Digad = AU Afaw BN & rerg=T o gl &1 F1 glauT W B2
1. Hector’s dilemma / 8¢ 1 GfaeT

2. Heinz’ dilemma / 851 &1 gAYl

3. Mary’s dilemma / 7} &1 gfaer

4. Henry’s dilemma / 37%1 1 Gfae



Correct Answer :-

« Heinz’ dilemma / 891 I Q"ﬁﬂ'{

27) Which of the following is least effective in educational implication of attention? /

Frafafea 9§ @ = wm & e Ffgard A Froaa gurdt 32
1. Theory talk / Ryia arai

2. Audio — visual aids / €Y -4 JUlalq

3. Gestures and movements / HTd-HfTAT 3R Tfafafer

4. Incorporation of variety / fafaerar gamaz=

Correct Answer :-

e Theory talk / RIgid aral

28) Aptitude tests are indispensable tools at the hands of to provide

educational and vocational guidance services. / AMere Gﬁ? TIATRIS ARG
JaTe Ue ®31 & fore srfyerwar wdteror &1 Sifrard Iy gl

1. Teachers / ﬁT&‘m

2. Friends/ EE]

3. Doctors / EIERED

4. Counsellors / ﬂ?ﬂ%ﬁ

Correct Answer :-

« Counsellors / W’I@W

29) CANCELLED

According to Carol Dweck’s Mindset theory, an incremental view of ability means WK 33|

AP &b ARSI & RIGid & VR, &l & UP ge¢ €9 T Adad gl
1. a stable and uncontrollable trait. / Y fRR 3R siffd fa=ivar|

2. a characteristic of an individual that cannot be changed. / U fad &1 favar ford dcdl '_ﬁﬂ SIf Hehdl

gl

3. a set of intellectual capabilities a person possesses. / Eﬁ'@as TS BT Udh JH=H St T Hfad & U™
g g

4. an ever expanding repertoire of skills and knowledge. / DI 3R 3 hT Uh ﬁﬂﬁ fawR|

Correct Answer :-



 an ever expanding repertoire of skills and knowledge. / PIRG 3R I BT Th ﬁﬂﬁ faR|

30) Assessment results of a very strict yet effective teacher’s class are below

average. The factor that is impacting learners in this class is the -/ T®% dgd Bl
HSP dAfpd UHTE! Rere a1t & rpad F uRumA NTd | $H g1 98 BRI S 59
wem o Rrenfial 1 yufag s w1 8, e @

1. complexity of the topic / [T @I Sfeerdl
2. boredom of learners / TRI&MT &1 Sifead
3. relationship between the teacher and learners / e iR Rrenfial & dtg ddy

4. relationship between new content and old content is not clear / :Féc TRt 3?|'\7 ER'Fﬂ I &
g dey Wy T8l §

Correct Answer :-

« relationship between the teacher and learners / e iR fRrenfial & dg &y

Topic:- General Sanskrit(L1GS)

1)

‘Hdegd 5cATT AM: h: ?

| 3dead T |

_ Joald T |

Jogid T |

, doead T |

Correct Answer :-

? gfogcaritafa: sfa ewg e |
 gfaTcarifa |



_ gfagcaTiierd |
| CaTIcaTRerd |
, GfagcaTiierd: |

Correct Answer :-

 gfagcaniierd |

3)

LTl AS-TUH-JIV-Sga = fohe] ?
Mo

. araira |
dodod |

2

dod ira |
3, =2

deldied |
. My |

4

Correct Answer :-

 dedied |

Y aRATE Scaed fauEarey fhe 2
) grar: #AE |

o ag AL |

s gar: ARl |




arT: ARl |
4. "'D
Correct Answer :-

.EIF‘IIT:?FI'I?TI

¥ #g el & fAHfEd: waead 2
5T |

3la§raﬁ|

, ACHT |

Correct Answer :-

? Y s T & 7

o
, olled |

ST

3

=l

4

Correct Answer :-



? T 5T BT g 3T ?

Tehg idadel |

1

_ Uchadel |

3.E|§T=I?I?rl

ACEECE N

4

Correct Answer :-

Y Aaderdt wEaH Hq &
dHA-FKdl |

Ci*H-rd-’lth |

2.

ay-Fdl |
. ATEAT |

Correct Answer :-

d{‘lrd'ﬂ'{(‘ﬁ |



_ TUH |
_ B |

| HALIAICAH |

, AEOH |

Correct Answer :-

. HEIH |

S y: |

UG |

2.

JAIGT: |

3.



HISHCT: |

4.

Correct Answer :-

PG |

Correct Answer :-

U dH |
. JH



) U recET HA: F: ?

1

" §T e T gfadar agaae fha ?
ll‘sl'I'U'U'I_cF[ﬁl

ZlEI'U'UTI_cF[I

 WTOOTI |
L L

Correct Answer :-

16)

qT: 91Tl BEERICHRIIG 9L |




1 IS Ted |
2 © |
3. v I

J[TsId: |

4.

Correct Answer :-

17)

‘Toa SATT ¢ AR ¥ foh ?

_ deqlAfe |
_ Fearad |
_ dfecsad |
, dlcesard |

Correct Answer :-

. dfecsad |

AL 3fd eET HAo®T e 7
. leliaﬂ_'lﬂ |

HA |

18)




y ?Fliaﬂ I

ATAT |

4

Correct Answer :-

far + 5
_ fRuar + 31 |
fera: + 318H |

TR+ 37EA |

Correct Answer :-

* ¢q33 sfa dwar a=: Tor@d |
AR IhATERIRITH |

ENIEHIDETRIKRE
2.

T gercaiachedagererd# |
3.




4 T aecTIcheAagererd# |
Correct Answer :-

ENICHIIDETEELAKSE

21) :
A goaTT Fgawe A 7
1. - |

&d: |
2.

EH: |
3.

2 |
4,

Correct Answer :-

|

? FHelluTde: $ITT Aied: & ?

. Ellrt._‘llaQTi |

Correct Answer :-



' T ey Hewd fRe ?
IeAg, |

1. 2 E

dq |

2. .

da |

EY

, ST¥HC |

Correct Answer :-

' ¢.ys s guerA el fo@d |

_ UTeleG [dagTe |

SIHEHAECICTE

2.

geleAg idangsTd |

3

S EHECICEE N

4.

Correct Answer :-

S EHECICEE N



rFIffa-casaraara g ?
1 Gl |
3Tsel |

2.

3

. o |

Correct Answer :-

_ Afeear |




giosardH|

2. 2 N =
ICTAITH |

3. -
A oS9TH |

4. & =

Correct Answer :-

28)
AT 5TF ITT: h: ?
oY |

T |

2

- ocdl |

3
gUT |
4. -

Correct Answer :-

29)

gIGE HIT: %{ ?

 #IcaH |
|

, dAAcdH |



AT
2lH3TT3TH3TT3T:|
EE R ERET

, ol Lol T 31 |

Correct Answer :-

Topic:- General Hindi(L2GH)

1) IRT IR BIS TaR],

Rz &% RRergRTI

3 ofig frara g,

FIT A AT 59 GRRTICH Il

TG AR Hd Bl TSN, AT § PRI
FIA-ap Y Tt W Y, fR T wR-armiR

TS dgieT §aH B, faee vy fRuRTI

TG ¥ a1 S7UHT ATEY, af H W JARTIR

ST YR B TgH -1 U T UY HT 3T qa134:
- TR T ) IR R & Tl 69 R # gar A §r aredd 82
1. MY

2. 3{bel



3. AT

4. AT

Correct Answer :-

. AT

T A TZAT & GRRTISH Il

TS TRT Hd Bl ATGT, 3HTAd § TPRI

FIA-apY Tt W Y, fR T wR-armiR

W1 dgTeT §aH B, fade vy fRYRTI

3Tg ¥ I ATAT ATEY, A FA W FARTIR I

I U= B U 1 D Y Uy HT 36 9133
U=H- Ugd e & fore o # 9 3fa <fide &1 9g+1 sifse?
1. GOR B!

2. TR &1 UK

3. Ul T dR

4. WGR

Correct Answer :-

. IO TR @

FIT A AT 59 GRRTISH Il

TG AR Hd Bl ATGT, AT § DRI
FIA-IpY Tt W Y, fR T wR-armiR

TS dgieT §aH B, faee vy fRuRTI

ITg ¥ a1 S7UHT ATET, af H W JARTIR

I TR B TGP 9 D T Uy HT 36 Id133:
WA- U Ui § Bfd 71 H1 & Y e weT 82
1. OR &1 HTH HRA & o



2. 4H @ & fog
3. @ 1R BT B & forg
4. GQERI & AT A & oy

Correct Answer :-

. AT & forw

A Sfta fara AT,

T A TSAT 5 TRRTITH |l

TS AR Hd Bl ATRT, AT § R
PIa-uehy @I T8 Y, R T w-arTiR|
WS dglp! JH B, fade uy fRYRT

g X I AUAT TG, A FH U FARTIR I
IWT TR B TP -1 U T UY HT 30X Ia134:
UH- Ugd Ui # ‘RReTeRT &1 71 3 82
1. gl

2. W R G arell

3. fiyer & aret

4. Gy RA aTell

Correct Answer :-

FIT A TS 59 GRRTISH I

TG TR B Bl 8T, AT § PRI

PTA-TpY @31 T X, IR T wR-arTng i

W1g dglpT JgH B, fade uy fRYRTI

g Y T ST TG, ot A WA AARTIRN

I Ui P UgH 1 U Y UY P IR Iq153:
- "§ & 7 qId 72



FIT A AT 50 TRRTISH I

TS TR Hd Bl ATGT, 3HTAd § TPRI
PTA-Tehy T T Y, fORR T wR-arTiR |

g TEleT §OH B, fade vy ARYRTI

g ¥ I ATAT ATEY, A FA W FARTIR I

ITad Ui P UgHR A1 U Y UY P IR Iq153:
- "IR-TRT § $IH-11 G0 §?

1. GgoHfer

2. AAIHIG

3.6%

4. Sgdie!

Correct Answer :-

T S TS 89 GRRTISH |l

9 AR Hd Bl TGN, ATTd § R

FIA-ap Y T W Y, fR T wR-armiR

ST dgieT §aH B, faee vy fRuRTI

S1g ¥ I ATAT ATEY, @ FA W FARTIR I

IUad UL Y UgHR H1Y IR T Uy BT IR qa13d:



- Bfd A frd AR’ &1 82
1. Yarll

2. TR-GR Y T Tg aTdd Dl
3. ST Bl

4. T B

Correct Answer :-

. TR-GR Y G a1 Bl

T A TZAT & GRRTITH |l

T BRI FHd Bl AATRT, HTAd § THRI
FIA-IpY T W Y, fR T wR-armiR
TS dgieT §aH B, faee vy fRuRTI
TG ¥ a1 S7UHT ATEY, af Y W JARTIR
IUad UL Y UgHR H1E IR T Uy BT IR qa13:
U~ Bd & IR TEE B9 A T2
1. fae grf i

2. W-GR Bl |

3. YOR H fore gIm|

4, 5§ Plerdch H W

Correct Answer :-
« U9 BTk & A

37 Sig fara A,

FIT A AT 59 GRRTICH I

TG AR B Bl ATET, AT § TR
PIA-uehy @I T8 Y, R T w-arTiR|i
g TEleT TH B, fawe vy ARYRT
g ¥ I UAT TG, A FH U FARTIR I



ST UL B UG 1 IR T Uy BT IWR qa1g:

WA- U B Ufed "t S At SR | w1y e o1 @ o g2
1. gfd

2. YdbTd

3. HHMR

4. BT

Correct Answer :-

I ofig ferara =g,

FIT A AT 59 GRRTISH I

TG AR Hd Bl ATET, AT § PR

PIa-uehy @I T8 Y, fR T4 w-arTiR|

S1g dgicT 6aH B, fawe vy fRYRTI

g ¥ I AUAT ATEY, A FH U FARTIR I

IRT TR B TH -1 U T Uy HT 30 Ia134:
WRA- Ui | it ufdd “srue Sfta faara A6l & i &1 o ared 82
1. Wt va af g

2. %0 Bt fm PIRTE

3. W DI Y HWR HIFAY

4. TG0 BT Yd 93T

Correct Answer :-

. WU B e i

A Sitq fara AT,

T A AT 59 GRRTISH I

TG TR B Bl 81, AT § PRI
PTA-TpY @31 W X, IR T w-arng i
W1g dglpT JaH B, fade uy fRYRTI



g ¥ I UAT TG, @ FH U FARTIR I

IWT TR B TEHR -1 [ T UY HT 30X qa134:
UT- Bfd P SR T AT 781 82

1. HH

2. U

3. ’RR

4, 9gH

Correct Answer :-

A Sita fara AT,

FIT A AT 59 GRRTISH Il

TG AR B Bl 81, AT § PRI
PTA-TpY @31 W X, IR T w-arng i
W1g dglpT JaH B, fawe uy fRYRTI
g ¥ I UAT AR, d FH U FARTIR I
IWT TR B TP -1 U T UY HT 36 Ia133:
U~ B F IR A7l {5 UdR 37182
1. DI ¥ W

2. fdwe

3. ®Ic

4, b

Correct Answer :-

39 Sitq foama =g,

FIT A AT 59 TRRTISH I

TG AR Hd Bl AATET, AT § TR
PTA-Teh T T Y, fORIR T wR-armiR |



WS dglpT JgH B9, fawe uy fRYRTI

TG Y T ST TG, ot W JARTIRN

IWT TR B TP 19 U T UY HT 30 Ia133:

UH- B3 F ATAR WRI-AT B A PIF-TT HIT IUT gl 82
1. [GDR

2. @

3. 69

4. 59

Correct Answer :-

39 Sitq foama =g,

FIT A TS 59 TRRTISH I

TS BRI Hd Bl ATRT, 3HTAd § TPRI
PTA-Teh T T Y, FORR T wR-armiR |

g dEleT §OH i, fade vy ARYRT

TTg ¥ T4 UAT AR, FA U FARTIR I

ITad Ui P UgH A1 U Y U P IR Id153:
- Ugd Uei< ¥ &fd 1 Sig & i &g @182
1. HH

2. F-fazm

3. UR-gR

4. @

Correct Answer :-

o @

3YA Siig feara g,
T A TZAT & GRRTITH |l
q9 AR Hd BT A8l 3Mad § TPRI|



PTA-Teh T T Y, FORIR T wR-arTiR |

g TEleT §aH B, fade vy ARYRT

qTg ¥ I UAT ATEY, dt FA U FARTIR I

ITYE Ui F UgH 1 U Y UY P IR Iq153:
- B3 & AR TaR |1 Y& 741 82

1. ¥H-fa=

2. YA-glad

3. HIT-GoITT

4. RGR

Correct Answer :-

. WIR

16) T F FYTYATE’ HT TH TP PR ¥ WD-<dde & faRIy # goil| Wo<d[ag] FAPR qRAfa®
SITd ¥ R Heu-Tad A faarur #3d A1 399 A1 # srefifre aw 3ifire g1a A1 39 ura afgumfsa gia
q| TP PriGATT fIyT, SArRafa® R Wo=< gia A1 I9! ufaferar & 33 Wifaw e & arafas
Sitas & fesor &Y ygfr A gurdarers) s faar | T am iran 8 7% gurdard) aar 1 ey 1856 5. ® ¥
TGP FAUR Dt URIS AT HIGTH T & USRI | §3MT| T FAEaR U= 3991 UR S5 091 aga
T F U B T8 A1 3P 91G qTeal1P 3R FIeT A 39 AT BI AR ggrn| 37 a2 forg gyrfarg it
"y faaT a8 upadre’ HET T A AN UPfd & I BI AT Ugd I A1 UHTA BT IR Wil yat 3R
fR19 81 Wipfae® Siia d IS STaRT =81 §, SAY 59 ANl A AHa-siad &) W STt 79 arafadwar &
frfra fan IFdt =it & s =vor & wiw | € gurdare $t 59 ugit &1 fajty 819 @) 59 91
gYTdardt war &1 fdeTa ©u ¥ afea giar 81 SRalat & UUH U ‘YSR Higer &t gyrdard Su=ama
T T 39 918 ¥ | g erawerd, MM iR Mt A gurdardt o «) fawRya far maf @) sfaay o
gyTiaTe FT1 & U Afdrd foear man, 37 wrfore gurdare w1 T

I TR F1 UgHR 19 YD 7T ¥ BT IR Ta133:

- = § gRaAIa®! & qT¢ gUTdardt war o fyeia w3 &1 9u fad fean wmar 32
1. TUATG! HATHRI Dl

2. TTARer, T 3R Mepf

3. TTaeld, TINIE 3R TRATS3R

4, TF J8R, HIGHT 91a]T 3R g3R fga

Correct Answer :-

. CIAH, NI SIR Wbl

17) U GYTdaTE’ &1 oH TP TSR A qo-<5darg & ARy § goiT| [Wo<dard! IaTeR aRAaid®
T A W FATAID A QR0 Hd &1 379! T913 # 3refifped da oifte g &1 37 ury Afgwrfesd g
¥| 9P PP ANT AfAYTA1Y, aRdfa® R W= gid A1 IFH! ufafpar # 59 Hifds e F arRafas
Sitaq & R @) ygfa A guriare s s+ fan T 9 wrar @ % gurdard) sar &1 ey 1856 5. §
AEE TSR Bt TRIG T HIGTH SIail & UHTRI | §3iT1 T Trear Susit 3991 IR $is 09T agd
WIE & U A T8 A1 TP 91 TTewiTep MR AT A 59 S B 3 IrT] 39 @ 3 o gurdare &t
wyg 3t 98 “Upddare’ o1 Tl A AN USTa F T P! AP dew 3 A1 Uy &1 AR Wed uds sk



fRTg 31 WipTas Sitaa | S SHTaRUT =61 8, FAIY 31 A A AHa-sitaq & W S9@! 97 arafadwar §
fafa foran Sl =t & s @vor A wivg & & gurdare @t 59 ught &1 IRy 811 @i s9d 91
gyrfardt wen &1 e Fu A afda gar 31 qRadlaw! & TuW ITNT YR figa &t gurdardt sy
T 11 39 91¢ & | g1 Trave g, Ma iR Maf 2 gurfardt «ar o faefa fran maf 3t sfaat &
gYTiaTe F1 o U Aferd foar man, 37 Jrfore gurdare w8t |

ITYe T B UgH A1 ID T U HT IR 9153

ULH- STeslTeh 3R ST §RT 13 gU1fare &) ‘upaare T4l $e1 [
1. 98 dRdfdeh Sifa I TR T

2. IUH Sita & Ufd UARaIG of

3. 390 Uphid I B fa=Iy A8 o

4. ITH fefifores da 31 A

Correct Answer :-

. I USTa I & faRiy Aea ot

18) U ¥ FYTYATE’ FT o H TP UHR I Wo-5darg’ & ARy § goiT| Mo <dard! IaTeR aRAid®
T A TR FUATAID H R0 Ha A | I7@! A1 § sreffre ad sifte gid &1 37 ury afgumfed g
Y| I7P PP ATY FAYT-1Y, SATEIAP 3R W< gld A1 3P| ufafeear # 39 Hifaw v & arfas
St & fRror &) ygfa A ayriare s w7 fean T amn orar @ % gurdard) sar 1 ey 1856 3. §
VEH TSR Bt TRIG T AIGTH SIail & UHTRH | §3iT1 T TaredR Uit 3991 IR $is 09T a9
T F ue § T8 A1 3P 91G qTeal1P 3R e A 3 AT H1 3R geran| 37 @ A forg gurfarg &t
Y4 fa1 98 ‘Updare’ Fe1 Tl A W UPHfa & T B AT 7gw 8 A1 UPpfa BT IRT el T iR
fR1gw 81 Wipfaw S d #IS Smarvr =81 §, ST 39 @Rl 3 Ara-siad &) W Iua! 79 arafaewar &
fafa foran Iddl 3t & sifw @vor ¥ wi & € gurdare @1 59 ugii &1 ARy g1 @i 9 91
gyTdardt war &1 faeTa ©u ¥ afdd giar 81 SRaat & UAH U ‘SR Higer $t gyrdard Su=ma
T T 39 18 9 § g eraerd, Ta 3R Maf 3 gurdardt war  fasRra faran matf « ofaat &
YT BT Sl FU dAferd fohar T, IV ArATfoTe gUTdare ®e1 i

IR TR F UgHR -1 Y& 7T U BT IR qa13:

- fa ugfy 3t ufaftear Tawsu gurdarg &1 w77 gam 4
1. 3fqgyrfarg

2. Wdedmalg

3. Yopiddig
4. AT

Correct Answer :-

19) GRIU H gYTSaTe’ BT T H TP UPR A ‘WS-5dldie’ & ORIy § goi| Wo-gdmaie! [MAHR dRAfds
T A W FUATAID | (AR Hd &1 ITP! Tg-13 # 3refifpd da ifte gid &1 37 ura Afgamfesd g
Y| 9P PPN AfAYT1Y, aRdafa® R W= gid A1 IFH! ufafpar & 59 Hifas e F aRafas
Sitas & feror &Y wgftr = <aurdare &Y 5w feam| T ar Siran @ % aurdard) sar &1 sy 1856 5. B %
AGE TR &1 URIE T HIGTH Sl & UHTRIA | §3MT1 JfY TTaaR Ut 3991 W $is 09T agd
W & U # T8 A1 TP 91 T 3R AT A 59 3T B1 31 IrT] 39 @ A o gurfarg &1



yg f3T1 98 ‘Upadare’ Hel Tl A 6 UPHfa & T B AT 7gw 8 U1 UPpfa &1 IRT el Teges iR
fR1ga 31 Urpfae Siaw & #1 3marvur 481 8, HiIT 39 @R A AFg-sitad &Y ot SUST 79 aafdwar &
fafya fan SHdl o<t & eifm @Ror & wig & & gurdare #t 39 ugfv &1 faRiy 89 @ 39 91
gyrfardt wen &1 e Fu A afda gar 31 qRdaw! & guW ITNT YR figa &t gurdardt sy
T 4TI 39 16 & 8 g1 TTaed, Ma iR et 2 gurfardt war o fawfa fean maf it ofaat &
gYTaTe F1 o1 U Aferd foan T, 37 Arifore gyurdare w81 |

ITYe T B Ugh A1 UD T U 6T IR 9133
- STeaTd 3R el & JUTIaTE &) w1 BT 12
1. tfergyrefare

2. [Wedeardig

3. UPadIE
4, JufeReH

Correct Answer :-

20) U H GY1HATE B T TP YHR & Wo-gdrarg’ & fadiy # gaiT| Fas<drarg! YaHIeR aRdafd®
SITd 9 W Heu-Tad A faarur #3d A1 391 A1 # srefifre aa 3ifire g1a A1 39 Ui afgumfsa gia
Y| ITP PP ATY FAYT-1Y, ETEfdP 3R W< gld A1 3P| ufafsear # 59 Wifasw v & arwfds
Sitaq & femror &Y gty A <aurdare &Y o feam | ¥ar wrm sirar § 7% gurdard) sar &1 Y 1856 5. ®
TEH TSR Bt URIG T HIGTH SIail & UHIRH | §3iT1 T TreaR Uit 3991 IR $ig 04T agd
T F ue B T8 A1 3P 91G qTeal1P 3R e A 3 AT B1 AR 9| 37 @ A forg gurfarg #t
w94 foa1 98 ‘Upddare’ Fe1 Tl A W UPHfa & T B INY 7gd d A1 UPpfa BT ART el T iR
fR19w 81 Wipfaw e d SIS Smavvr =81 §, ST 39 @Rl 3 AFa-siad &) W ST 79 arafawar &
fifa foran SAdl <t & s~ @vor ¥ wiv & § gurdare @1 59 ughi &1 ARy g1 @i 9 916
gurfardl a1 ®1 AP v § afdd a1 81 SRGIa! & Ty ITA ‘GeR figer &I gyrdard Su=ard
T AT 39 918 ¥ A g erawerd, MM 3R Mt A gurdard war @) fawlya frar maf «) sfaay o
YT H1 Sl FU Aferd forar mar, 3X "rAfore gurdare we1 i

I TR $1 UgHR 19 YD T ¥y BT IR Ta134:

- IATA 7t & srfaw =1 F Wiy ® gurdardt vgft @1 fajiy forw sRor @ 8= @
1. T4 Sfta &1 Y 01 HA & HRUT|

2. 3 BIS HINT BT JART B & HRUI|

3. 7T b1 3TU&H Uef fora & PRl

4, AHTRTD JUTS BT =01 3 & BRI

Correct Answer :-

« A4 Siia &1 7Y 0 1 & HRUT|

21) WU F GYTIATE’ FT TH TP THR | WD-5darg & ARy § goiT TWo<dmard! Ia-TeR aRAidd
TG A W FEATAD | IR0 Ha A1 IAP T3t A refps e sif¥e gia A1 371 ursy afgumifea g
q| TP PRIGATY fIYTI, SARAfa® R W= gia A1 IT! ufafrar & 39 Wifdw S & arafds
Sitas & feeror Y gt = <gurdare &Y 5w feam | T wr Sian @ % aurdard) sar &1 ey 1856 5. 6 %
AGE TSR & TRIG T HIGTH STl & UHTRIA | §3iT1 T TTaaR Sust 3991 IR $is 09T agd



T & U § 81 A1 STP I1¢ dealTP 3R ST A 39 ST DI 31 FerdTl 541 a3 o gyrdarg &1
"y a1 98 ‘Wpadre’ Fe1 M1 A AN UPfd & T $1 AW Aea @ A1 Upfa BT ART Wed ye iR
o1 31 Wipfaw shta & #1E smaror 7Y 8, 39T 39 @ A Ara-siaT &t f STt T arafdea &
fafya fan SHdl o<t & sifm @Ror & wiwg & & gurdare #1 39 ugfv &1 Rty 89 @ 39 91
gYTfard} Far &1 e T A aférd a1 31 gralawt F yyd U YeR figer & gurdardt Su=mg
T 11 39 916 & 8 g1 TTaved, Ma iR et = gyrfardt war o fawfia fean maf $t ofaat &
gyrfare &1 S ¥ u afé far man, 39 amrie gyurdare wet

ITYe TR B UgH A1 UD T U 6T IR 9133

- AT gurdare &1 o fa 31 § |71 Sran 82
1. YRd

2. 3ARDT

3. 38

4.4

Correct Answer :-

22) GRIU H GY1daTe’ BT 99 TP PR A Wo-adareg $ Ry & goiT| Wo<arard] IaIeR Idad
SITd ¥ TR Heu-Tad A faarur s A1 3991 A1 # srefifre aw 3if¥re g1a A1 39 ura afgumfsa gia
Y| TP PRGN AfAYT-1T, SARdfa® R FWo—=< gid A1 IFH! ufafpar & 59 Hifde S F aRdfas
Sitas & feror Y waftr 2 <aurdare &Y s feam | ¥ar arm sirar § 7% gurdard) sar &1 iy 1856 5. §
TGP FAUR $t URIS AT “HIGTH T & USRI | §3MT| T FAEaR U 3991 WR S5 091 aga
A & v § T8 A1 3P q1¢ TTel1d 3R T A 3 STera- B 3R ggrn| 39 @ A oy gurdare &t
"y 3T a8 upadre’ wET T A AN UPfd & I B AT Ugd I A1 UHia BT IR Al yee sk
fR19 81 Wipfaw® ST d IS STavvT =81 §, SAY 59 ANl A AHa-siad &) Wt STt 79 arafawar &
e fan A =it & s avor ® wiw | € gurdare $t 59 wgit &1 fajty 819 @) 39 91
gYTdardt war &1 fdeTa ©u ¥ afda giar 81 SRalat & UUH U ‘YSR diger &t gyrdard Su=ama
T 4T 39 916 ¥ | g erawerd, MM iR Mt A gurdardt o &) fawRya far maf @) sfaay o
gyrfare &1 5 T U aféa far man, 39 "raie gyurdare wer

I TR F UgHR 19 YD 7T ¥ BT IR Ta133:
- Q3R fuger &7 3rf 82

1. YdH AR

2. SR A

3. QIfoRT=ITSAT &R

4. 9§ AN

Correct Answer :-

. SR TN

23) WU F GYTYaTe’ FT 0 TP THR | Wo-5darg & Ry § golT [Wo5dmard! Ia-TeR dRAid®
TG A W FATAD | IR0 Hd A | IAP Ig-13i A s aea if¥s gid A1 371 Uty afigumifea g
Y| ITF FRIGATT Y4, arafd® iR W= gid A1 Iq@! ufafear & 39 Wifaw sva & arafds
Sitas & feeror Y gt = <gurdare &Y 5w feam | T wr S @ % aurdard) sar &1 ey 1856 5. 6



AGP FATAUR DI URTes TTAT “HIGH AR & USRI J g7 I FATGIR ST 99T W HIg 0T dga
W & g& A T8 &1 SHP 91 STealTd 3R FIAT A 3 AT<IeH B 31 gerT| 39 @ 3 oy gurdare &t
"y fauT a8 upadre’ w1 T A AN UPfd & T B AT ugwd 3a A1 Upla &1 IR el yoer 3R
forTaa 31 wipfaw shtaw & @15 amavor 78 B, safg 39 @it A aa-shtad &t o STt 99 arafaedar A
fafa foran Sl 3t & sifw avor ¥ wiw & § gurdare @t 59 ught &1 Ry 11 @i 9 91
gyrdardt war &1 faeTa ©u ¥ aféa gia1 81 SRala! & UAH U SR Higer $t gyrdardt Su=ama
T 11 39 916 &9 8 g1 TTave , Ma iR Mt = gurfardt war o fawfa fean Mol $t ofaai o
YIS BT Sl FU Aferd fohar T, IV ATATTS gUTdare Se1 T

SR TR F UgHR -1 Y& 7T U BT IR qaA13:
TH- R F1 rd FT BT B2

1. feargsn

2. fa=mmet

3. a1 g3l
4. g

Correct Answer :-

24) XU H GYIIATE B F9 TP YHR I AB-5darg’ & faviy # goiT| Ias<dard! IaIeR aRaid®
ST A W HeUTae | A= Hd ¥ 370! 13 # renfre da ifte gid A1 379 s Afgumfed ga
Y| ITF FRIGAT faya-1a, arafd® iR W< gid A1 Ig@! ufafkar & 59 Hifas e & arafds
Sitas & feror &Y gt 3 <aurdare &Y s feam | ¥ar arn siran § 7% gurdard) sar &1 sy 1856 5. §
TGP FASUR Dt URIS AT HIGTH T & USRI | 31| I FAeaR U=t 39T WR S 091 aga
A & v § T8 A1 TSP q1¢ TTeal1d 3R AT A 3 STera- B 3R ggrn| 39 @ A forg gurdare &t
"y 3T a8 ‘upadre’ wET T A AN UPfd & I $I AT Ugd I A1 UHiA BT IR Al ye 3R
19w 81 wipfaw Sshia d IS Smarr 81 €, ST 39 @l A uHa-shad &) W Iuat 79 arafawar &
fafa foran A =t & s R0 A wiv § & gurdare @t 59 ughi &1 IRy 811 @i 39 91
gYTdardt war &1 faeTa ©u ¥ aféa giar 81 SRaast & UUH U ‘YSR diger &t gyrdard Su=ama
AT 14T 39 918 9 § € Trawerd, a3k Ml A gurdard war & fawRia fran Mt #1 pfaal &
gyrfarg &1 5 T U aféa far man, 39 "rae gyurdare wet

I TR F1 UgHR 19 YD 7T UY BT IR Ta133:
URH- 99 IRAfIPdT 19 & SR frg ¢ & gYrdard sar &1 faRiy g4 v u1?

1. HIRd

2. %9
3, STHAT

4, g

Correct Answer :-

25) WU F GYTYATe’ FT 0 TP THR I Wo-5darg & iy § golT| [Weogdmard! Ia-TeR dRAid®
T A W FAATAID A (AR Hd &1 379! To13 # 3refifpe da ifte g &1 37 ury Afgwrifed g
Y| I7P PRPATY FIYT-1Y, SATHAP 3R W< gld A1 3P| ufafsear # g9 Hifaw S & arafas



Sitaq & foeror Y ygin A gyrdare &1 w1 fqar| a1 /1 Srar 3 f gurdardt sar &1 3Ry 1856 3. 6 %
AEH TSR Bt URIG T AIGTH SIail & UHTRH | §3iT1 T TredR Uit 3991 IR $is 09T agd
T F ue § 81 A1 3P 91G TTeal1P 3R e A 37 AT H1 3R ggrn] 37 @ A forg gurfarg #t
Y4 foaT 98 ‘Updare’ He1 Tl A W UPHfa & T D) AT 7gw d A1 UPpfa BT ART el T iR
fR19w 81 Wipfaw i d #IS Smarvr =81 , ST 59 @Rl 3 Ara-siad &) W Iua! 79 arafawar &
Fafa foran Sddl 3t & s~ @vor ¥ wig & € gurdare @1 59 ughi &1 ARy 11 @i 9 91
gyTdardt war &1 fdeTa ©u ¥ afda gia1 81 SRaat & UAH U YSR Higer $t gyrdard Su=ama
T T 39 918 9 § g erawerd, Ma 3R Maf 3 gurdardt war i fasfra fran maf o ofaat &
YT BT Sl FU Aferd forar T, IV ArAIfTe gUTdare ®g1 i

IR TR F1 UgHR -1 Y& 1T UY BT IR qa13:

- fhdT YR &Y TaeT13il & U & Srieay sfasRi=ita auT sarafa® ik W= gid A2
1. FTfard}

2. fferrfard

3. =Udrct

4, WG-aATATG!

Correct Answer :-

26) WU F GYTdaTe’ FHT TH TP THR | Wo-<darg & ARy § gol WD <dmard! Ia-TeR dRAid®
STd A TR HeuTed § faRor e 41 3@t vaenel # sraifre aq Siffe gd &1 3% ur afgunifsa e
q| TP PRIGATY SfIYTI, SARafa® R Wo=< gia A1 I9! ufafrar & 39 Wifee e & arafas
Sitas & foror &Y wgftr = <aurdare &Y s+ feam | ¥ar w Sian @ % gurdard) sar &1 sy 1856 5. B
TEH TSR Bt URIE T AIGTH TaRl & UHIRH | §3HTI I TRreaR Ut 3991 IR $ig 0dT agd
A & v § T8 A1 3P 18 TTeal1P 3R AT A 3 STera- B 3R ggrn| 39 @ A forg gurdare i
"y a1 98 Ypadre’ $&1 TG A TR IS & T DI {99 7@ ¢d A1 UHd ST ART Aivad el iR
19w 81 wipfaw shia d IS 3marur =8Y €, SHfere 39 @l A ura-siiad &) W Sua) 79 arafawar &
fafa faran A =t & s R0 A wivt & & gurdare @t 59 ughi &1 IRy 811 @i 59 91
gyrfardt wen &1 e Fu A afda Far 31 qRadlaw! & guW ITRNT YR figa &t gurdardt sy
UM T 39F 918 9 § € Trawery, e 3R Ml A gurdard war & fasRia fran Mt #) ofaal &
gyTiaTe F1 o U Aferd fovar man, 37 wrfore gyurdare w8t |

ITYe TR B UgH A1 UD T U HT IR 9d153:
wxH- for wafRr & ur &) wfgwmifea forar simar g2
1. gYTfarg

2. [l

3. Upfdarg
4, JAfe RS

Correct Answer :-

27) U A GYIYATE B T TP YHR & Wo-gdarg’ & fadiy # gaiT| Fao<drard! YaHIeR aRdafd®
T A W FUATAIP H [0 Ha A | I7@! A1 § sreffre ad sifte gid &1 37 ury afgumfed g



Y| TP HAGATY AfAYTTN, adafd® 3R W< gid A1 ITH! ufafbar & 39 Hifa®d sva & ardafdas
Sitas & femror Y wgftr 3 <aurdare &Y o feam | ¥ar wrn siar § 7% gurdard) sar &1 sy 1856 5. ®
AEH TSR Dt TRIG T HIGTH SIail & UHIRH | §3IT1 T FareaR Uit 3991 IR $is 04T agd
T F ue B T8 A1 3P 91G qToal1P 3R e A 3 AT B1 AR gern| 37 @ 2 forg gurfarg &t
wyd foTT 98 ‘Ypddare’ Fe1 Tl A W UPHfa & T B AT 7ew d A1 UPpfa &1 IRT el T iR
fR19w 81 Wipfaw S d SIS Smarvr =81 §, ST 39 RNl 3 AHa-siad &) W STt 79 arafawar &
Fafa foran SAdl It & sif~w @vor ¥ wiv & § gurdare @1 59 ugii &1 Ry 11 @i 9 916
gurardl a1 &1 e v § afdd a1 81 SRGIa! & Ty ITA ‘GeR fige &I gyrdard Su=ard
T AT 39 918 ¥ A g erawerd, MM iR Mt A gurdard war «) fawlya far maf #) siaay o
YT H1 Sl FU Aferd forar mar, IV "rAfore gurdare we1 i

I TR $1 UgHR -9 YD 7T ¥y BT IR Ta134:

U TATHAR & q16 JUTSard) e siga 3t feam smi agran?
1. FTeaIdh SR S

2. 3T 3R wel

3. DTG 3R SRR UNTG

4. Ml 3R THARGSIA Hic

Correct Answer :-

28) WU F gYTdaTe’ FT 0 TP UHR I Wo-5darg & ARy § gol TWo<5dmard! IaTeR dRAidd
T § W FeUATaIP A fORor H3d A1 IT91 w13l # Srefifpe a e g 41 37 Ui Afgunifed gia
Y| 37 BdFAN AfIYTY, aRafd® 3R W< gid A1 @I ufaferar # 59 Hifaw wvd & arafds
Sitas & feeror Y wgftr = <aurdare &Y s+ feam | Tar ar Siran @ 7% gurdard) sar &1 sy 1856 5. 6 %
AGE TSR ®1 URIE T HIGTH SIail & UHTRIA | §3MT1 Jafd TTaaR Su-t 3941 W) $is 09T agd
W & U # T8 A1 TP 91 T 3R AT A 59 3T B1 31 IrT] 39 @ A3 oy gurfarg &1
uyd faar 98 ‘Upddare w1 Tl A 6 UPTd $ T B AR Ao 3 A1 uPfa 1 ART Al Uas 3R
19w 81 wipfaw S d IS amarur =81 8, SHfee 39 @il A ura-siad &) W Suat 7 arafawar &
fafya fan SHdt oot & eifm @Ror & wig & & gurdare @) 39 ugfv &1 faRiy 89 @ 39 91
gyrfardt wen &1 e Fu A afda gar 31 qRdaw! & JuW ITNT YR figa &t gurdardt sy
T 4TI 39 916 & # g1 Traved, Ma iR Maf 2 gurfardt war o faefia fran maf $t sfaat &
gyTdare &1 N ¥U aférd forar man, 3§ qrfere gyurdare w1

ITYe T B UgH A1 ID T U HT IR 9153

WRH- FRATSUR 31 AT HIGH Sail UR HI9-I7 dAgd o & & § 781 A2
1. gTfard}

2. Sifagyrefard

3. WBGdIdrg!

4. Upicarat

Correct Answer :-

. gyrfard}



Y F GYTIATG BT H Th PR A Iqo-gddig’ & [y # gail | Is5<gdIargl bR aRdfdd SiTd
T W FeuATaIP H TR0 Fa &1 3701 F13 H Srefifre aa sife gia &1 37% A Afgunifad g1d A1
ITF PPN ARIYT, SaRafds iR o< gid A1 I39! ufafear ¥ 39 Wifae v & qafas
Sitas & feror Y wgftr 2 <ayrdare &Y s feam| Tar wrm sian § 7% gurdard) sar &1 sy 1856 5. §
TGP FASUR Dt URIS AT “HIGTH T & USRI | 31| I FAeaR (U=t 391 UR S 0491 aga
A & v § T8 A1 3P 1S TTeal1d 3R AT A 3 ST<ra- B 3R dgrn| 39 @ A forg gurdare &t
"y faaT a8 ‘upadre’ w81 T A AN UPfd & I $I [ARY Uge I A1 Upia &1 IR el ye 3R
19w 81 wipfaw shia d IS Smarur 81 €, SHfere 39 @l A AHa-shiad &) W Iuat 79 arafawar &
fafa foran A =t & s wRor A wiv § & gurdare @t 59 ught &1 IRy 811 @i 39 91
gYTSardt Hen &1 e Fu § afda gar 31 aRdiaw! & JYW ITN YR Niga &t gyrdardt S
UM T 39 916 9 § €1 Trawerd, a3k Ml A gurdard war & fasRia fran Mt o1 ofaal &
gyrfare &1 5 T U aféd far man, 39 " gurdare wer

ITE TR B UgH A1 ID T UY BT IR 9a133:

UH- pfa & T Ay &1 ggw faar oM & SRT aTeate 3R e & gyrdare &) o1 $al
T

1. gTeharg]

2. ifagyrfard
3. Ygard]

4. Upfcrardl

Correct Answer :-

30) XY | YIS BT 9 TP YHR I qo-adarg & faiy # goiT| WMo <dEard] IaHIeR aRdafd®
T A W FeuATAIP A faeRor Ha A1 3@ A1t § sreffre aa sif¥e g1d &1 39 ury afgurifesa g
Y| ITF FRIGAT faya-a, arafd® ik W= gid A1 I9@! ufafear & 39 Wifaw e & arafds
Sitas & feeror &Y gt = <gurdare &Y 5+ feam| T ar Siran @ % gurdard) sar &1 sy 1856 3. B
AEE TSR Bt URIG T HIGTH SIail & UHTRH | §3iT1 JfY TraaR Ut 3991 IR $is 09T agd
W & U # T8 A1 TP 9IS TTewTeh MR AT A 59 S B1 3R IrT] 39 @ 3 oy gurdare &1
"y {391 98 ‘Wpadre’ He1 M1l A AN UPTd F T B AW A @ A1 pfa BT ART Wed ye iR
1w 31 Wipfaw shta & #1E smaror &Y 8, TR 39 @ A Ara-siaT &t o STt T arafdear &
fafa foran Sl 3t & s wvor § wiw & & aurdare @t 59 ught &1 Ry g1 @i 39 91
gyrdard} war &1 fieTa ©u ¥ afdd giar 81 SRala! & UAH IR YSR Tiger $t gyrdardt Su=ma
T T 39F 918 9 § € Trawerd, e 3R Maf 3 gurdard war ) fasRia fran Mt « ofaat &
gYTiaTe F1 i U Aferd fovar a1, 37 Jifore gurdarg w1 |

I TR F UgHR -1 YD 7T UY BT IR Ta133:

WA - {58 T991 & gUTiardt Har BT SRY |1 16T 32
1. AR

2. TG &1 &1

3. HIGH G
4. ATGH STa<t

Correct Answer :-

. TG Sast



Topic:- Social Science (SSC)

1) FDI stands for ./ Q'q’_éﬁaﬂg, Jfég =g %I

1. Financial Development Institution / tb—lgﬁﬁl'q?f SqdUHCe $~&Ch| YR
2. Financing Data Initiative / ngﬁﬁm K| slﬁlﬁlqléa
3. Foreign Direct Investment / BRA CCETQW _{a@—d

4. Forex Directorate Institution / T IR Slixidt\ljid $%Cnl [SIRIG!

Correct Answer :-

« Foreign Direct Investment / IR 5I$§dc E';a‘tdﬁl.d

2) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / m

Haerfe TR srfirferaw # waeH 1 3y 21 A geTd? 18 a9 H &t 18 o2
1. 615t / 619
2.62M /629
3. 66 / 669

4. 64 / 649

Correct Answer :-
. 615t /617

3) Which among the following are key faunal species that is being conserved and monitored in

‘Dachigam National Park’? / fAaferfaa o & Cap k| Uq 9 q 'q\_rlm’%, ISECIRACIIE
YT Je § Hearor SR fteror fasam o weT 82

1. Golden Oriole / TTeg 3R
2. Hangul or Kashmir Stag / 8¢ AT HRHRT @RI

3. Yellow-throated Marten / %HQIFII

4, Musk Deer / W e

Correct Answer :-

« Hangul or Kashmir Stag / §7[c1 g1 HRAR] fg01

4) Which Commission recommended that appointments of Governors should be strictly non-

partisan? / T3 JTART A Ryw1ivr 91 fo Irsaural 1 fgfeaay o wadt & varard =gt
g aifge?



1. Malimath / HTfCTHS
2. Thakkar / 6P PR

3. Sarkaria / IRBIRAT
4. Punchhi / Gt

Correct Answer :-

« Sarkaria / GRBINAT

5) Which school of philosophy propagated Project method of teaching? / ashmm & forg

forermera A Rigor 5t uRaen vsfa &1 war feare
1. Naturalism / W

2. Pragmatism/ JdgRdl¢

3. Constructivism / XAl

4, Existentialism / &m

Correct Answer :-

. Pragmatism/ dgRdlq

6)
Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I{Text) List-TI{ Author)
A Kitab-al Hind 1.Ibn Battuta
B.Rihla 2_Al-Biruni

C Humavun Nama | 3 Lahori
D Badshah Nama | 4 Gulbadan Begum

- 11 & er - 1 o7 fAerrer & 3R gt & o= few 21w &his T 3ot &heh HaT 3ok
ﬂﬁ:

A-I(eFT) AT -1l (eTEF)
A Thdre-3ier fgeg | 1. Sedd adar

B. Rgear 2. HA-Ta&aAr

C. Mm 3. SR T

D. 9ICaG AT | 4. A[Tagst a4

1. A-3, B-4, C-1, D-2
2. A-3,B-1, C-4, D-2

3. A-2,B-4,C-1,D-3



4. A-2,B-1,C-4,D-3

Correct Answer :-

« A-2,B-1,C-4,D-3

7) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the
planet and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17

goals? / ‘Wdd fIeTa @a’ T & JUTE F- R U5 B 38, ifd R IS gRlia s &
R ardiftre it g 81 THSTSh &1 ‘Siaaryg S gieEr 17 deal § § S 91 987 82

1. Goal 17 /& 17
2. Goal 13 /7d&J 13
3.Goal 11 /&I 11

4. Goal 1 /&I 1

Correct Answer :-

e Goal 13/ &I 13

8) The Andaman and Nicobar Islands are submerged parts of the mountain range called

j UM R PR fluagg_ udd 491 & JTaHT YN § |
1. Arakan Yoma / 3RTTH AT

2. Askai Chin / 3PTS o

3. Pegu Yoma / U7 T

4. Tien Shan / T Y

Correct Answer :-

« Arakan Yoma / 3RTbTH THT

9) What is not true about the art and architecture of temples of Khajuraho? / @S[RTgl & Hfe=I
Pt BT 3R IRGDH e & faug o Fa1 I T8 82

1. Khajuraho temples contain erotic art inside the temple. / @oRTe! Hie=l | HAR & 3R HTHS Hell
Sy g |

2. Temples were made of sandstone. / HfdR I3 TR I & |

3. It was built in Nagara style of architecture. / $3 IRqH T B AWIST el H ST 7T T |

4. The columns and architraves were built with megaliths. / ¥dH 3R aﬂ?ﬁm TTiery ¥ 919
T Y|

Correct Answer :-



« Khajuraho temples contain erotic art inside the temple. / oRTe! HiaRI & TR & 3iaR BT Hall
s 2|

10) Which of the following site is famous for stupas, monasteries, temples and pillars? /

fFrafafad & 3 S 91 wa Wy vel, wfeRl ok Wl & forg uRrs 82
1. Khajuraho / WeRTe!

2. Ujjain / I=H

3. Vidisha / fafe=m

4. Sanchi / Ir=t

Correct Answer :-

« Sanchi /3T

11) The author of famous Gita Govinda, Jayadeva was court poet of: / WRi% «ifiq Mfdg” &
AP, TG 5% AR B A:

1. Lakshman Sena of Bengal / SRTIdl & @&H0T I
2. Prithviraj Chauhan / QR dg™

3. Gopala / TdTd

4. Harsha / g%

Correct Answer :-

« Lakshman Sena of Bengal / SfTiel o @&HU1 9

12) Article 356 of the Constitution is related to the imposition of rule in the state. /

Tfaem &1 3rgwse 356 fhdl Isa | M AN H31 A Haftrd 31

1. President’s / TIE'EIﬁ
2. Chief Minister’s / FRHHT

3. Prime Minister’s / UHTTHAT

4. Governor’s / IISGUTT

Correct Answer :-

o President’s / ?quﬁf

13) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 & ??RFT,

S & $fY &1 ufowa R w82



1. 15.9%
2. 13.9%
3.10.9%
4.20.9%

Correct Answer :-

e 13.9%

14) RBI is considered as the lender of last resort for ./ Gﬂw\iﬂg G| & for
A Fefgrar 7T ST 3 1

1. The cooperative banks / ESREQR CEdl

2. The Regional Rural Banks / &g uror et
3. The commercial banks / OIS b

4. The Government / Xh R

Correct Answer :-

o The commercial banks / CHUIRES aﬁ

15) In which language was Rajtarangini written by Kalhan? / ¢gUl = Yoot feg

1T # ot 82
1. Prakrit / Ul d
2. Devnagari/aa;ﬂllﬂ

3. Sanskrit / I¥Hd
4. Pali / OTeil

Correct Answer :-

« Sanskrit / I¥pd

16) In which year the NEP was introduced? / E:Ig'(ﬁ frgadd = &1 Tl's: 1 L

1. 1991

2. 1992
3. 1990

4. 1993

Correct Answer :-



17) Who among the following did not belong to the group of ‘Moderates’ in the formative

phase of the Indian National Congress? / Frafafaa & ¥ $i9 yrda ?T@'q FUA S
URFYS TROT | ~RAUIAAY & a9z I dafta 78l A2

1. Gopal Krishna Gokhale / T Coyl TR
2. Dada Bhai Naoroji / lcl q-|'|_$f :ililG“

3. Bal Gangadhar Tilak / §Tcl TR foleidh

4. Surendra Nath Banerjee / {'RQ 1Y S

Correct Answer :-

« Bal Gangadhar Tilak / §TST TRTIER INNED

18) Who is a person who holds an office, not because he/she is elected to that post, but by
virtue of the fact that he/she holds another office called as? / dg aﬁﬁ Afed % o Udh W
H o1 a1 8, AT 81 P a8 39 U & fore g1 a1 B, Ifeep 59 9 & YR W
W@ AU PG AP weare, R Ped &

1. Ex-officio / UG

2. Claimant / GIAGR

3. Ex - Ante / QW—Q%
4. Stakeholder / TRTYRSD

Correct Answer :-

« Ex-officio/ qé?f

19) Who appoints the Advocate-General for the state? / T & e weTferaear &1 ﬁ'ﬂ'ﬁ
DI HIAT 82

1. President / TIEQﬁ
2. Chief Minister / GAH!

3. Parliament / 939G
4. Governor / J[sOUTd

Correct Answer :-

« Governor / ISIUTd



20) A test that predicts the future performance of a student in a particular area is known as: /

TP qdteor 5t fredt faRiv 8 A vo o & Hiaw & ezl &t ufasgarfl #var g, a9
9§ SET ST 2

1. Diagnostic test / Fere e

2. Prognostic test / tﬁh—ﬂ?ﬁ Rl

3. Achievement test / SUTT TRI&UT

4. Paper Pencil test / DTS PISER R

Correct Answer :-

« Prognostic test / ug‘fm%ﬁ TRi&T

21) India after independence relied on food crop supplies from USA under the Public Law

./ e faf¥r (ufsres @) & Ifqfd Tl U & 91 WRd WTe] B 31
JTYfS & RIT Hge I SAR®T IR R o)

1. 450
2.490
3. 480
4. 470

Correct Answer :-

e 480

22) among the following is an example of industries which are run with the help of

family members, friends and relatives. / ﬁtﬁi%r@'cr & HYY, UD Qﬁ IR BT
J2TERVT 2, W7 URAR  waw, aRl IR REIER) 91 7ag @ ey o &

1. Large and Medium scale industries / a@ 3R AL TR P IaNT
2. Capital industries / ﬁf’ﬁ RO

3. Cottage industries / W IR

4. Regional industries / QAT I

Correct Answer :-

. Cottage industries / TR IENT

23) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose - / %G@m‘sﬁmﬂqwﬁmmaﬂ%i T
SYHNT & IR W 31 JTHH] BT IATGH H1 P forg Iy forar s @ -



1. Fiscal goods / ITSThINIT qEJU

2. Capital goods / U,\Trﬂ"'l?f ?ﬂ{m

3. Consumer goods / JUHTe JEJU
4, Perishable goods / [CCARip) W

Correct Answer :-

« Capital goods / Uf:ﬂ"'l?f GRS

24) The amount of water vapor actually presents in per unit weight of air is known as: / gdl

P Ufd sPpTE HR # SURRIT 910 F1 AT Hgardl &
1. Absolute Humidity / RECERCIEG]

2. Saturated Air / It d1g

3. Relative Humidity / BIBRERI G

4. Specific humidity / fafary 3Ted

Correct Answer :-

. Specific humidity / fafR1y 3rar

25) The Conference held in led to the establishment of Non-Aligned Movement

(NAM). / T Saifora e & HRUI e FARUE Sigia (NAM) @t g ust|
1. Yugoslavia/ TﬂWﬁ'ﬂT
2. Belgrade / CRPS

3. Egypt/ g

4. Bandung/ ETI@"‘T

Correct Answer :-

« Bandung/ TG

26) The name of the teacher of Ajivika religious sect was: / STeifaeT uTfife duera &
3ITaTd T AT T

1. Puran Kashyap / Y2 w4y

2. Ajit Kshekamblin / 3/ofid &dafer

3. Sudas / &g
4, Makkhaliputra Gosala / Wﬁ*lgﬁ NI



Correct Answer :-

+ Makkhaliputra Gosala / Wﬁﬂﬁ NI

27) The method of teaching that is suitable for developing democratic attitude is: / Rreror 1

faftr st AiwaiBe e fasRa w3 & g Suge :
1. Brainstorming method / foar-y= fafd

2. Activity method / TTfifafe fafer

3. Lecture method / SRS fafdr

4. Historical method / ﬁ,ﬁl—@m fafer

Correct Answer :-

+ Brainstorming method / fIaR-gy fafa

28) The evaluation that is concerned with the performance of the individual in terms of what
he can do or the behavior he can demonstrate is termed as: / dg W Wafea d 93'521.7'[
& Y9y A B fr 98 1 B TPl § 91 98 ol TSR UGRId H Tl 8, 3/ A Far
AT 3:

1. Formative evaluation / FHOTE® Helih
2. Norm-referenced evaluation / STHTRT -3 BT HedTh

3. Summative evaluation/ A& Yedich
4. Criterion-referenced evaluation / ATFIGS - HaiHd HAih

Correct Answer :-

« Criterion-referenced evaluation / ATGS - Fa&d HTh

29) The proponent of basic education is: / §& Rren & guds €
1. Mahatma Gandhi / HTHT Trieft
2. Swami Vivekananda / HTJITJ:P[ faddrg

3. Jiddu Krishnamurti / ﬁﬁfg{ W
4. Rabindranath Tagore / ?ﬁ:@:ﬂ?{ TR

Correct Answer :-

o Mahatma Gandhi / HelTHT e}



30) Cooperative banks in India falls under the Banking Regulation Act of JHRAH

weeMide & dfdbw faftrawa siftfes & siaefa smd &1
1. 1947
2. 1950
3. 1949
4.1948

Correct Answer :-

« 1949

31) Which committee recommended for the creation of the post of District Development

Commissioner? / FoTaT fa®RT 3y & ug & fAmfur & fore frw wfafa = Rrerfv=r 12
1. M.L. Dantwala / TH .U GiddTell

2. Ashok Mehta / 3R Hgdl

3.G VK Rao / Sil. dl. &. [

4. Hanumantha Rao / §JHdT X4

Correct Answer :-

« GVKRao/Sit. dl. &. 3@

32) Which of the following is a Greenhouse Gas? / frafafaa A B U m tig: | %?
1. Argon / 3
2. Oxygen / it

3. Nitrogen / ql%éAlqu
4. Carbon dioxide / BT @33{\@133

Correct Answer :-

« Carbon dioxide / BTe SIAHTRIZS

33) Which of the following is not included in Project method? / Frafafad ¥ Q@ #19 vvee
faftr & =mfvre 78 82

1. Problem type / EITGF‘ITT RS

2. Projector type / uﬁw cIgu
3. Drill type / f$dT e18U



4. Inquiry type / 3 paldR] CISU

Correct Answer :-

« Inquiry type / Wﬁﬂ CEL

34) Which of the following is not an aim of Social Science? / Frafafea # § war amfee

e Te eI 32

1. Developing right attitudes / gl IIT'h?ﬂ%f famRIa e

2. Intelligent democratic citizenship / §@I|T:[ dlpdid ARTRGl
3. Building social competence / TS W&q &1 fmor

4. Making a rich economy / Udh JHx SR M

Correct Answer :-

« Making a rich economy / Udh HHx SfTaRYT FMT

35) Which of the following is not the objective of teaching Social Science? / fafafead s

T GRS fAgT= &) YoM &1 3539 T8l &2

1. Social development of the child / S &1 TS fahT™

2. Creation of leadership quality / aﬂc_d Gl 0rddl ol fmTor

3. To prepare an ideal citizen / b 3MTeRf AMR® R AT

4. Memorization of the events / ge13f T TRT

Correct Answer :-

« Memorization of the events / Y131t BT TRT

36) Which of the following institutions was not founded by Mahatma Gandhi? / ﬁtﬁﬁ'@ﬂ
B DI A1 WU TETaHT Tieh & gRT GA1fia A8t foar mar ur

1. Seva Gram / TaT I

2. Phoenix Ashram / qﬁﬁﬂ STHH

3. Banaras Hindu University / §9IRY %7'@ ﬁwﬁw
4. Sabarmati Ashram / ITERH! YT

Correct Answer :-

 Banaras Hindu University / d7RY |%:|§ ﬁmﬁw



37) Which of the following was the most important reason for lowest sex ratio in the 1991

census of India? / AR & d F1 1991 ¥ R B FUFT & Jad HH 19T &1
T UETYUl HRUT UT?

1. Sex selective abortion / Ul YU gT
2. Malnutrition / W
3. Son preference / YA PIDIEET)

4. Undercounting / STUITUTAT

Correct Answer :-

» Sex selective abortion / & -Ul YUT &l

38) Which of the following is the most prominent problem that a teacher faces while teaching

social science? /mﬁﬁﬁﬂﬁmmm%ﬂ‘rwﬁwﬁmﬁﬁ
a3 v & SR 3l 82

1. Balancing the different learning needs of the pupils / faenfial @ faftr siftnm srazadmarsit
DI Hferd BT

2. Helping all students to get maximum marks / Tyt B P S1fUHaH 3P U H1 # Acg
HIAT

3. Helping the students to meet long-term goals / ElEICARAREINEAN KDl Ui & H Heg
DT

4. Accommodation of diversity of the students character / B o RS B! [AfqUdT BT A

Correct Answer :-

« Balancing the different learning needs of the pupils / faenfat ot fafte siftnmm sragwmarst

CARSGINGERSI]

39) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / YRA-UIfh &I &

5 gz & uummRas=y aivere=r &1 fFmfor gan?
1. 1999
2. 1965
3. 1984

4, 1971

Correct Answer :-

- 1971



40) Which among following schemes was first implemented for the alleviation of poverty in

India in the year 20157 / FFTIfaa & @ S Wt g adf 2015 § YRa & Wt 3@
& fg any at 718 A

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HeIHI it TI’gTq
JTHIOT ISR TRE SHfafgH

2. Pradhan Mantri Gram Sadak Yojana / YTHAT AT qsh BISE])

3. MUDRA scheme / Hal IS
4, Central Cooperative Scheme / ol ebhRI arorT

Correct Answer :-

« MUDRA scheme / &I IS

41) Where is the head quarters of United Nations situated? / TGl MY ST AT G

fRag?
1. San Francisco /a:[ ThiRRA!
2. Washington / qIfRiTe

3. New York / <qaTd
4. California / PTTBIT

Correct Answer :-

« New York / QIEI%

42) In the modern education system, the role of social science teacher is as: / GITW e

wurTett §, grarfore fagm R 3 YReT s TR §:
1. Follower / &HQT{ﬂ

2. Friend / T8

3. Facilitator / W
4. Philosopher / E-‘lﬁm

Correct Answer :-

« Facilitator / &W

43) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment
of 500 ‘PAGODAS’. / I I BT ATH FaTd fora= fafe=r 1 500 “wirs’ & Y- W wWad
FU I ATIR B & (T AT BRur, & 4n|



1. Bidar/ |33R

2. Bijapur/a:'\_rl'l'ﬂT
3. Berar / SRR

4. Golconda / an

Correct Answer :-

+ Golconda / lﬂm

44) Who founded the city of Agra? / 3ITVIRT e~ & RITYAT foaq o2
1. Humayun / EﬂT’i

2. Shah Jahan / RTEST&I

3. Akbar / {hal}

4. Sikandar Lodhi / fiebeR qildt

Correct Answer :-

. Sikandar Lodhi / Rrdrex areft

45) When was the First Battle of Tarain fought? / RIS DT UYH Y& DA TST T YT?
1. 1206 A. D.

2. 1195 A. D.

3.1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A.D.

46) Which of the following statements is correct regarding social science? /

frafafad # Q o 91 $y= g o= & 9y § I8l 82

1. Social Science can be optional at school level. / ATt foR faeed TR W JhicI E?f
qHdl g |

2. Social Science studies only the events of the past. / AT a9 Had 3idid &1 g3l &1
3T Rl 5

3. Social Science is a harmonious blend of various subjects. / qraTioTe fasi, faftr ICLEIER]

TSR Yo ]|



4. Social Science subject matter changes according to the ideals of the ruling party. / BICISCACRIE]
o %, INTH A & 3SR & SHTIR d&Adl ¢

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / BILISEY ﬁ?‘ﬂ:f, faftrs fawat &1

TSI HYr ]|

47) Students re-create the teachers’ apparatus in which a paper clip tied to a
string ‘moves’ over a magnet. This methodiscalled_ ./ 914, e/ Ium o
@) 7H: 97 B4 T, Www%w@@ﬁawﬁwmmmél EL|
fafar =1 ©gT oTaT 3|

1. Inquiry Resolution / St bl

2. Guided Inquiry / BRG] PEGRIE]

3. Open Inquiry / 34 PEGRIE]

4, Invitation to Inquiry / S & forg fAm=ron

Correct Answer :-

+ Guided Inquiry / REIEG) PELIE)

48) An observation which is written like a short story is known as: / B HEHL
#1 a8 faf@d v& sraeted A = & ST S @:

1. Conduct Register / hSPpC Tﬁﬂﬂ\?\’

2. Anecdotal Record / SURHAMTHD Rbis
3. Teachers Log Book / TR1&/& aT g

4. Cumulative Record / Ford! EEAE]

Correct Answer :-

« Anecdotal Record / SURSATATHD |Q$V|é

49) Who among the following was popularly known as the ‘Frontier Gandhi’? / FFrafafae

A I fHd i Wit & A1 | ST SArdr 912
1. Maulana Abul Kalam Azad / FYGHT STl hcdlH 3vile
2. Igbal khan / ShdTd W

3. Abdul Ghaffar Khan / 3{egcl TTHRIR M-

4, Hasrat Mohani / 89d Inﬁ:ﬁ



Correct Answer :-

+ Abdul Ghaffar Khan / 3fegcl THPR W[

50) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and

social work? / 1896 W HTHATT TTgd 3R Ao ST WY 3@+ & fore wrwgpwr fiw= #t
RITYT foaq 312

1. Swami Vivekananda / Fﬂ'ﬁﬁﬁaw

2. Ramakrishna Paramahansa / JTHG W] TRAGYH
3. Swami Dayananda Saraswati / WTH GG R

4. Blavatsky and Olcott / SATATRD! 3R 3Nehle

Correct Answer :-

o Swami Vivekananda / Fﬂ'ﬁﬁﬁaw

51) In which year was the Dutch East India company formed? /$d ?;R' E'%TIT HYHI BT

o+ foa af o faear war ur?
1. 1616
2. 1620
3.1614
4. 1602

Correct Answer :-

« 1602

52) CANCELLED
How much is adiabatic cooling rate? / FRuRTeH =9 34 @%ﬂﬁ% T’I%FTQ?) feat %?

1. 5° C/Km
2. 8° C/Km
3.15° C/Km
4.10° C/Km

Correct Answer :-

e 10° C/Km



53) CANCELLED

Where in the “Ninety East Ridge” submarine volcanic ridge located? «Tg-Tel s’w oo |

ARRATG sarerg udaguft (e sl fRa g2
1. Indian Ocean / f§G HERITR

2. Arctic Ocean / 3Thicd HEETR

3. Atlantic Ocean / 3{cdiicH HBRINR

4. Pacific Ocean / URIId HEHNR

Correct Answer :-

54) CANCELLED

The study of ‘Man'’s ethos’ is: / "0 & AGMAR' HT AT (A giaT &:
1. Psychology / Wﬁﬁ

2. Sociology/@mﬂ}l’?ﬁ

3. Anthropology / QW

4. Geology / forararett

Correct Answer :-

« Anthropology / E@h'chﬁ?rﬁ

55) CANCELLED

Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

fpum g1 {5, ‘U, U HIadATHS Ufafshar IUT HIdT @ St U1 df APRIAD I
THRTAS gl THdT ¢ | UFAYD (Wisad) mus! Jieq 3R TR 19 § gl ! 3,
il fRiaefia fRren 212

1. Dylan Wiliam / ST9cH faferad
2. Paul Black / U1 §0idh

3. Charles Beard / W IERE]

4. Miller / fleR

Correct Answer :-

« Dylan Wiliam / STa faferag

56) CANCELLED



The primary source of data is: / S¢T &1 UIUfA® W 8:

1. Biographies / WQJTE{ (TSIT?ﬂ";I'I'qff)

2. Bibliographies/ &I it (faaferaumn)

3. Commentaries and treatises / Sep]-[ETOMAT 3R 3{TeRg
4. Proclamations / En'GI'UWQ

Correct Answer :-

« Proclamations / ‘Eh'EI'WTQ

57) The largest contiguous cotton-growing region in the world is located in which among the

following countries? / fafrfeadafFasudA Ry srasw d8l Ifafed HU9 SATCH
aa fRa??

1. China / 9
2. United States / S o AR

3. India / HIRd
4. Pakistan / OTfped™

Correct Answer :-

. United States / Sad T 3ARBT

58) The only two landlocked countries of South American continent are /ETEI'UT AR

HETEIY & $ad 3l AT 3 gl

1. Surinam and Guyana / ﬁﬁ:ﬂ'q 3R RICIEIE
2. Columbia and Paraguay / Didfear 3R R
3. Bolivia and Paraguay / Srefifar 3R ;Rra

4. Ecuador and Parana / $GDIS\IQ GﬁT UIRTAT

Correct Answer :-

« Bolivia and Paraguay / Seitfaar 3R R

59) Which among the following is the lowest level of a body of water such as an ocean or a

lake? / fRafIfEd o & 1 TeRITR a1 39 SRl 51a &1 518 3T Jad Faar wR 82
1. Demersal / SHIA
2. Neritic / ARfC®H



3. Benthic / dfIdh
4, Pelagic / PNISED

Correct Answer :-

« Benthic / SfRI%

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / Tifelt & Srfigar ugify JarAar i
DR 1939 ® Y I ¥ ®19 H19 & sreme GAatfa fee mee

1. Dr. Rajendra Prasad / IS RO
2. B.J.B Kriplani / &1.51.dl. Ul

3. Subhash Chandra Bose / JHTY Ig CI5|
4, Nellie Sengupta / et @:FIGIT

Correct Answer :-

« Subhash Chandra Bose / §HIY Tg CI5|



